ALevelMathsRevision.com
Topic 03 — Surds (From OCR 4751)

Note: A link to the associated YouTube tutorial can be found at ALevelMathsRevision.com/bridging-the-gap/
Q1, (Jan 2006, Q8)

(i) Simplify 54/8 + 44/50. Express your answer in the form a~/b, where a and b are integers and

b is as small as possible. 2]
5 | V3 : : .
(i) Express T in the form p+ q\/g , where p and ¢ are rational. [3]
— A/ :
Q2, (Jun 2006, Q7)
() Simplify 6v2x5+3—+/24. 2]
(ii) Express .(2 - 3\/3)2‘ in the form la + b\/g, where a and b are integers. [3]
Q3, (Jan 2007, Q7) .
3 9-17 9++/17
You are given that a = 5, b= m and ¢= T Show that a + b + ¢ = abc. [4]
Q4, (Jun 2007, Q8)
(i) Simplify V98 —~/50. 2]
o 65 . ' fz .
(i) Express W in the form a+ b5, where a and b are integers. [3]
+

Q5, (Jan 2008, Q8)

(i) Write V48 + V3 in the form aVh, where a and b are integers and b is as small as possible.  [2]

| 1
ii) Simplif B 1 3
(ii) Pty S5 +5-% [3]
Qe6, (Jun 2008, Q7)
(i) Express 1 in the form s b\/g, where a, b and c¢ are integers. [2]
5+3 c
(ii) Expand and simplify (3 - 2\/7)2. (3]
Q7, (Jan 2009, Q10)
(i) Express V75 + V48 in the form av/3. [2]
(ii) E 18 _ siithie fotiti bk oV [3]
ii) Express in the form cvd.
gt
Q8, (Jun 2009, Q8)
V48
(i) Simplify ——. 2
) Pty = 755 [2]

(if) Expand and simplify (5 - 3v2)". [3]
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Q9, (Jun 2010, Q5)

(i) Express V48 + V27 in the form av/3.

b+cV2
(i) Simplify b+ ev2

. Give your answer in the form

5v2
P

[2]

[3]

Q10, (Jan 2011, Q7)

81 :
(i) Express — in the form i

V3

5 bv3
(ii) Express A in the form s \/_ where a, b and c are integers.
5—/3 c

[2]

[3]

Q11, (Jan 2012, Q4)
(i) Expand and simplify (7 + 3v2)(5 - 2V2).

(ii) Simplify V54 + \1/—23

[3]
(2]

Q12, (Jun 2012, Q5)
106 )
V24

(i) Simplify

(i) Simplify 4_1 =+ 4+1 =

3]

2]

Q13, (Jan 2013, Q7)
(i) Express Y48 + Y75 in the form avb, where a and b are integers.

(ii) Simplify 77++2J/§§, expressing your answer in the form a+ bys , where a, b and c are integers.

c

2]

3]

Q14, (Jun 2013, Q7)

(i) Express 125¢5 in the form 5.

38

(ii) Simplify 10+ 795+ 275 giving your answer in the form a + b¥5.

2]

3]

Q15, (Jun 2014, Q4)
(i) Expand and simplify (7 —2v3)".

206

(ii) Express /30 in the form a\/b, where a and b are integers and b is as small as possible.

[3]

2]

Q16, (Jun 2015, Q6)
(i) Expand and simplify (3+4+5)(3 —2V5).

(ii) Express v72 + 32 in the form av/b, where a and b are integers and 4 is as small as possible.
P 2

3]

2]




